
SAP ABAP table /BEV1/TSCONT_S {Telephone Sales: Structure for Sales activities}

_BEV1_TSCONT_S

_BEV1_TSANWBER [CHAR (10)]

_BEV1_TSANWGRP [CHAR (7)]

VBELN [CHAR (10)]

KTAST [CHAR (1)]

SAISON [CHAR (5)]

PARNR [NUMC (10)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

KTAAR [CHAR (4)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

KTAGR [CHAR (3)]

KTAER [CHAR (3)]

PARVW [CHAR (2)]

ABTNR [CHAR (4)]

PAFKT [CHAR (2)]

PAVIP [CHAR (1)]

PARLA [LANG (1)]

_BEV1_TSABER

MANDT [CLNT (3)]

ANWBER [CHAR (10)]

 /BEV1/TSCONT_S-/BEV1/TSANWBER = /BEV1/TSABER-ANWBER 

0..N

1

_BEV1_TSAGRP

MANDT [CLNT (3)]

ANWBER [CHAR (10)]

ANWGRP [CHAR (7)]

 /BEV1/TSCONT_S-/BEV1/TSANWGRP = /BEV1/TSAGRP-ANWGRP 

0..N

1

_BEV1_TSSAIDEF

MANDT [CLNT (3)]

SAISON [CHAR (5)]

 /BEV1/TSCONT_S-SAISON = /BEV1/TSSAIDEF-SAISON 

0..N

{0,1}

KNVK

MANDT [CLNT (3)]

PARNR [NUMC (10)]

 /BEV1/TSCONT_S-PARNR = KNVK-PARNR 

0..N

1

T002

SPRAS [LANG (1)]

 /BEV1/TSCONT_S-PARLA = T002-SPRAS 

0..N

{0,1}

TPAR

MANDT [CLNT (3)]

PARVW [CHAR (2)]

 /BEV1/TSCONT_S-PARVW = TPAR-PARVW 

0..N

1

TPFK

MANDT [CLNT (3)]

PAFKT [CHAR (2)]

 /BEV1/TSCONT_S-PAFKT = TPFK-PAFKT 
0..N

1

TSAB

MANDT [CLNT (3)]

ABTNR [CHAR (4)]

 /BEV1/TSCONT_S-ABTNR = TSAB-ABTNR 
0..N

1

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]
 /BEV1/TSCONT_S-SPART = TSPA-SPART 0..N

1
TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 /BEV1/TSCONT_S-VKBUR = TVBUR-VKBUR 
0..N{0,1}

TVC1

MANDT [CLNT (3)]

KTAER [CHAR (3)]

 /BEV1/TSCONT_S-KTAER = TVC1-KTAER 

0..N

{0,1}

TVC2

MANDT [CLNT (3)]

KTAGR [CHAR (3)]

 /BEV1/TSCONT_S-KTAGR = TVC2-KTAGR 

0..N

{0,1}

TVC3

MANDT [CLNT (3)]

KTAST [CHAR (1)]

 /BEV1/TSCONT_S-KTAST = TVC3-KTAST 

0..N

1

TVIP

MANDT [CLNT (3)]

PAVIP [CHAR (1)]

 /BEV1/TSCONT_S-PAVIP = TVIP-PAVIP 

0..N

{0,1}

TVKGR

MANDT [CLNT (3)]

VKGRP [CHAR (3)]

 /BEV1/TSCONT_S-VKGRP = TVKGR-VKGRP 

0..N

{0,1}

TVKK

MANDT [CLNT (3)]

KTAAR [CHAR (4)]

 /BEV1/TSCONT_S-KTAAR = TVKK-KTAAR 

0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 /BEV1/TSCONT_S-VKORG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 /BEV1/TSCONT_S-VTWEG = TVTW-VTWEG 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 /BEV1/TSCONT_S-VBELN = VBUK-VBELN 

0..N

1


